The trigonometric functions
The graph of y = sin x (1)

EXCEL HSC MATHEMATICS
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Question 1 Complete:

The domain of the function y = sin x is

a
b The range of the function y = sin x is

¢ The graph of y = sin x has period and amplitude

d The graph of y = a sin nx has period and amplitude

QuesTion 2 Write down the period and amplitude:

a y=sin4x b y=4sinx c y=—;—sin2x d y=—251'n%
Period Period Period Period
Amplitude Amplitude Amplitude Amplitude

QuesTioN 3 Sketch the graph of:

a y=2sinx
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The trigonometric functions
The graph of y = sin x (2)

EXCEL HSC MATHEMATICS
page 116

QuesTion 1 Sketch the graph of:

a y=sinmx !
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The trigonometric functions

EXCEL HSC MATHEMATICS

The graph of y = cos x (1)

Question 1 Complete:

page 117

The domain of the function y = cos x is

a
b The range of the function y = cos x is

¢ The graph of y = cos x has period and amplitude

d The graph of y = a cos nx has period and amplitude

Question 2 Write down the period and amplitude:

a y=cos2x b y=2cosx o y=%cos4x d y=—4cos§
Period Period Period Period
Amplitude Amplitude Amplitude Amplitude

QuesTioN 3 Sketch the graph of:

a y=3cosx

1

b y=-cos 3x
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The trigonometric functions
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The graph of y = cos x (2)

QuesTion 1 Sketch the graph of:

a y=2cos 2x

page 117
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The trigonometric functions
The graph of y = tan x (1)

EXCEL HSC MATHEMATICS

Question 1 Complete:

a For what values of x is y = tan x undefined?

b The range of the function y = tan x is

¢ The graph of y = tan x has period
d The graph of y = g tan nx has period

Question 2 Write down the period:

a y=tan 4x b y=3tanx ¢ y=-tan mx d y=2tan§

QuesTion 3 Sketch the graph of:

a y=tanx

b y=tan2x

y4
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The trigonometric functions
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The graph of y = tan x (2)

Question 1 Sketch the graph of:

a y=3tanx

page 118
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The trigonometric functions

The graphs of y = cosec x, y =sec x, y = cot x

QuesTioN 1 Sketch the graph of:

a y = cosecx
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The trigonometric functions

Using graphs to solve equations (1)

EXCEL HSC MATHEMATICS
page 121

QuesTion 1
a On the same diagram sketch the graphs of y = 2 cos x and y = sin 2x for -2n < x < 27

b Write down all solutions of the equation 2 cos x = sin 2x, -2x < x < 27

QuEsTION 2

a On the given diagram sketch the graphs of y = sin mx and y = 2x

b= “Write down all solutions of the equation sin
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The trigonometric functions
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Using graphs to solve equations (2) =

QuesTioN 1

a Sketch the graph of y = cos(x + 1275)

page 2l . ..

y A
1 1 1 I | 1 1 1 1 ) ] 1 I >
0 X
b For what values of x does cos (x + 37”) = sin x?
QuESsTION 2
a On the given diagram sketch y = tan x and y = cot x
y A
L 1 1 ] ] I 1 I i 1 L ] i »
0 X

b For what values of x does tan x = cot x?
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